Rem ==================== £ EFBEHRBFE/O—F
Rem JTFCO_GL20.ods(#BP9xEt%L)

Rem 3D Accounting System (Copyright:Shuichi Sunaga.2012/05/20)(651T)
Rem

Public Const CoName = "7~ 24—K"

Public Const CorpOrindv = "Corp" (3% A=Corp | {8 AZEZ&=Indv)

Public Const GLName = "JTFCO_GL20.xIs"

Public Const ADigit = 4 '(£iE % B3N D#i#

Public Const GActOrder = True '(BS/PLTOE)EI—FH R IE=True| 5> % Li=False
Public Const CTXRate =5'(H&Hi®E

Public Const BSAudCD = "Audit of Dr./Cr. Balance:"

Public Const PLAudCD = "Audit of Sub-Totals:"

Public Const DPTAUdCD = "& 253"

Public Const PLPGBreak = True

Public Const RMCol = 11 '(BS/PLILIRIRER I D AiH=K3|=113I8
rem

Public Const OWNCD = " (E£F B D EI—F(NADHEIEEH=""
Public Const CRTXCD = 60 '({fR{LHEBOBEI—F

Public Const PYTXCD = 1320 ‘(IR 24 & H OB FEI—F

Public Const BKChgCD = 6530 '($R{T XA F ¥ D Ea—F

Public Const WHTaxCD = 1330 'GRRFiFEYED#HEI—F

Public Const PICPTCD = 2010 '(3hbA B A& D#EI—F

Public Const REBegCD = 2020 (& #I % EIRE D EI—F

Public Const REEndCD = 2029 '(#iRFIZFIREDEEI—F
Rem

Public Const IsMultiDP = False '(§iPi&&t&#175=True | {TH %L =False
Public Const NumDpt = 0 (BP9 %2(30 | #BFI= 5L DHENUmMDpt=0
Public Dpt(0 To NumDpt + 1) As String '(88F9> —~&E2 51

Public WkDpt(0 To NumDpt + 1) As Object "(&8F9>—k74 Tz EEF
Public AmtArray(NumDpt, 4) As Long '(EBP9%% - £ ERIF SR 5 3k <t i L 1=BE 31
Rem
Public Const BFName = "8Il B &Y #&i#%"

Public Const BKDateOrStr = "ONum" '( B {1 £ :Date/#F £ :0Num/$ F £ :Num)
Public Const PRDateOrStr = "BN_Num" ‘(B {4%!:Date/8 174 + $FZ:BN_Num)

Public Const SvCUse = True '(True:SvC—h%{# Fi|False: T~ {& )
Rem

Public Const APUse = True (AP —h% {3 Fi=TRue|F{# F=False

Public Const APCD = 1020 (AP —t M kv X IZ B#tE#)EI—F

Public Const AP_UQP = False '(AP>— ks THE x B i = £ 28% FiL\5=True| &~ F=False
Public Const AP_Due =1'(RILHIR: KHFAKR=1| KT 2 AEX=2| etc

Public Const APCol = 10 '(BS/PLALERIRR 5% 105 B =J5I% & A

Public Const KeyAP1 = 4 (Wi & 1+ —5 &S L AKI—FIIES

Public Const KeyAP2 = 10 '(it &2+ — D5 ES : ZILAFIES

Public Const KeyAP3 = 1 (& E3xX—DHNEFS EREBSINES
Rem

Public Const ARUse = True (AR —h%{# F=TRue| R {3 Fi=False
Public Const ARCD =30 (AR —hDFE#HEFITRIREHEI—F
Public Const AR_UQP = False'(ARY—hh TH ExHifi =& 5% AL 5=True| &~ EFA=False
Public Const AR_Due = 2'(XILHARR: KRB AR=1 | KHEE 2 AR=2| etc
Public Const ARCol = 11 '(BS/PLALFRIRRFIE 1151 B =K% EA
Public Const KeyAR1 = 4 (#i & E1F¥—DFIES  {FREI—FINES
Public Const KeyAR2 = 12 (i & 552 —DFES  {LtiRAES
iublic Const KeyAR3 = 11 (i & E3FX—DFE S : A ANES
em

Public Const MWUse = False (MW —h%{# FA=TRue| & f=False

Public Const MWCD = 80 (MWL —+DRLEE I EI—F

Public Const MW_UQP = False '(Mw>—h T = Bl =2 45% AL 5=True| &~ {E F=False
Public Const MW_Due = 1 '(ATFHARR : KB AR =1 | KtV L AXR=2 etc

Public Const MWCol = 11 '(BS/PLALFRIR R FIE1151 B =K% E A

Rem Public Const KeyMW1 = 8 (I & 515 —DFIES:

Rem Public Const KeyMW2 = 17 (L B E2F—DFIHS

Rem Public Const KeyMW3 = 18 (i 53X —DFIES

Rem
Public LnDT(1 to 30) As String '(BK,JV,AP, AR, MW — DB K 5118=30
Public aIND(0 to 4) (CFTOEXREEIZEDHNEHEI—RI R,
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Rem ==================== £ EFFEHRBFE/O>—F
Rem JTFC3_GL20.0ds (3&BFIRET)

Rem 3D Accounting System (Copyright:Shuichi Sunaga.2012/05/20)(651T)
Rem

Public Const CoName = "7~ 24—k"

Public Const CorpOrindv = "Corp" (3% A=Corp | {8 AZEZ&=Indv)

Public Const GLName = "JTFC3_GL20.xIs"

Public Const ADigit = 4 (£ €% B3N D#3

Public Const GActOrder = True '(BS/PLTOE)EI—FH R IE=True| 5> % Li=False
Public Const CTXRate =5'(H&Hi®E

Public Const BSAudCD = "Audit of Dr./Cr. Balance:"

Public Const PLAudCD = "Audit of Sub-Totals:"

Public Const DPTAUdCD = "& %5|3"

Public Const PLPGBreak = True

Public Const RMCol = 11 '(BS/PLiLERIRRFIDAIH=KFI=11518
Rem

Public Const OWNCD = " (E£F B D EI—F(NADBEEEH=""
Public Const CRTXCD = 60 '({R#\HEROEEI—F

Public Const PYTXCD = 1320 ‘(IR 24 & B O EI—F

Public Const BKChgCD = 6530 '((R1T X {h F ¥ D Ea—F

Public Const WHTaxCD = 1330 'GRRFiFEYED#EI—F

Public Const PICPTCD = 2010 '(3hA B A D#EI—F

Public Const REBegCD = 2020 (& ##FRE D EI—F

Public Const REEndCD = 2029 (iR FIZEIREDEIEI—F
Rem

Public Const IsMultiDP = True '(BiFIREt&1T5=True | TH 7L =False
Public Const NumDpt = 3 '(E8F9 %133 | #BPI 57 L D& NumDpt=0
Public Dpt(0 To NumDpt + 1) As String (589> —~&E2 51

Public WkDpt(0 To NumDpt + 1) As Object '(&8F9>—bA TPz H M EEFI
Public AmtArray(NumDpt, 4) As Long '(&B P94 - 1+ 3RIR 3R 51 8 <%t i L T=EE 31
Rem
Public Const BFName = "8l B &Y #&#%"

Public Const BKDateOrStr = "ONum" '( B {1 £ :Date/#F £ :0Num/# £ £ :Num)
Public Const PRDateOrStr = "BN_Num" ‘(B {4 %!:Date/$8 174 + $=FZ:BN_Num)

Public Const SvCUse = True '(True:SvC—h% i Fi|False: T~ {& )
Rem

Public Const APUse = True (AP —h%{§ Fi=TRue|F{& F=False

Public Const APCD = 1020 (AP —tMDkihE X IZ Bt S EI—F

Public Const AP_UQP = False (AP — ks THE < B i = £ 28% Fi L\ 5=True| &~ & f=False
Public Const AP_Due =1'(XILHIR: KHEAKR=1| RFT 2 AEX=2| etc

Public Const APCol = 10 '(BS/PLALERIRR 5105 B =J5I% & A

Public Const KeyAP1 = 4 (Wi & 51+ —5 &S L AKI—FIES

Public Const KeyAP2 = 10 '(it &2+ —nD 5| ES : XILAFIES

Public Const KeyAP3 = 1 (A& E3x—DHNES FEREBSIES
Rem

Public Const ARUse = True (AR —h%{# F=TRue| R {3 Fi=False
Public Const ARCD =30 (AR —hDFE#HEFITRIREEI—F
Public Const AR_UQP = False'(AR>—hrh TH Ex i =& 5% AL 5=True| &~ {EFA=False
Public Const AR_Due = 2'(ZILHARR: RFBAR=1| AT L AR=2| etc
Public Const ARCol = 11 '(BS/PLALERIRRFI(E1151 B =K3I %A
Public Const KeyAR1 = 4 (Hi B E1FX—DFIES  FREI—FINES
Public Const KeyAR2 = 12 (i & 552 —DFES  {tiRAES
ﬁublic Const KeyAR3 = 11 (It & #E3F¥—DIES: AL ANES
em

Public Const MWUse = False ‘(MW —h#%{# FA=TRue| & A=False

Public Const MWCD = 80 (MW —+DRLEE I EI—F

Public Const MW_UQP = False '(Mw—h T3 E x Bi{fi = £%8% AL\ 5=True| = Fi=False
Public Const MW_Due = 1 (ATRHAMR : KB AR =1 | KB L AXR=2 etc

Rem Public Const MWCol = 11 '(BS/PLALERIRR (& 1151 B =KF%EA

Rem Public Const KeyMW1 = 8 (I & HE 15 —DFIES:

Rem Public Const KeyMW2 = 17 (L B E2F—DFIHS

Rem Public Const KeyMW3 = 18 (i & 53F —DFNES

Rem
Public LnDT(1 to 30) As String '(BK,JV,AP AR, MW & — D& A 51E=30
Public aIND(0 to 4) (CFTOEREEITEDHNEHEI—RU R,
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Rem ==================== S EFBHR{F T /0> —F
JTFDV_GL20.0ds (fE A E &3

Rem 3D Accounting System (Copyright:Shuichi Sunaga.2012/05/20)(654T)
Rem

Public Const CoName = "7>24—hk-JIR"

Public Const CorpOrindv = "Indv" ‘(3 A=Corp | {8 AZE & =Indv)

Public Const GLName = "JTFDV_GL20.xls"

Public Const ADigit = 4 '(£iE% B 31— D#ii

Public Const GActOrder = True '(BS/PLTOENEI—F M RIE=True| 5> % Li=False
Public Const CTXRate =5'(H&R®E

Public Const BSAudCD = "Audit of Dr./Cr. Balance:"

Public Const PLAudCD = "Audit of Sub-Totals:"

Public Const DPTAUdCD = "RFEEZRU—REEHE 5"

Public Const PLPGBreak = True

Public Const RMCol = 11 '(BS/PLILIRRER I D AIH=KZI =113 B
Rrem

Public Const OWNCD = 10 (EX£EHDEEI—F(NADHEIFEA=""
Public Const CRTXCD = 60 '(fR{LHEB OBEI—F

Public Const PYTXCD = 1320 '({R &4 & HOE EI—F

Public Const BKChgCD = 6530 '(#R{TX L F I D #Ea—F

Public Const WHTaxCD = 1330 '(RRFiFEYVEDO#EI—F

Public Const PICPTCD = 2010 '(3hA B A D#EI—K

Public Const REBegCD = 2020 '(Mi& #I % EIREDEHEI—F

Public Const REEndCD = 2029 '(#iRFIZEIRE DR EI—F
Rem

Public Const IsMultiDP = True '(BiFIREtZ4T5=True | {ThH7%L =False
Public Const NumDpt = 2 (B FI %12 | BP9 &5t L DHENUmDpt=0
Public Dpt(0 To NumDpt + 1) As String (89> —~& E2%1

Public WkDpt(0 To NumDpt + 1) As Object ‘(&8P —bAT MBS
Public AmtArray(NumDpt, 4) As Long '(&BP9% - £ ERIR SR 51 8 <%t i L =EE 31
Rem
Public Const BFName = "8l A &Y #@is"

Public Const BKDateOrStr = "ONum" '( B {1 & :Date/#F £ :0Num/$ F £ :Num)
Public Const PRDateOrStr = "BN_Num" ‘(B {4%!:Date/$8 174 + $F 2 :BN_Num)

Public Const SvCUse = True '(True:SvC—h% i fi|False: T~ F)
Rem

Public Const APUse = True '(AP>—h%{ Fi=TRue| 7 {& F=False

Public Const APCD = 1020 (AP —tMDkivE X I E# S EI—F

Public Const AP_UQP = False (AP —h~H THE x B ffi = £ 28% FL\$=True| ~{# f=False
Public Const AP_Due =1'(RILHIRR: KMHEAR=1 | KT 2 AER=2| etc

Public Const APCol = 10 '(BS/PLLERIRR 5105 B =J5% & A

Public Const KeyAP1 = 4 (& 15 —5 &S L AKI—FIES

Public Const KeyAP2 = 10 (i &2+ —D 3| &S ZILAFIES

Public Const KeyAP3 = 1 (i E3x—DHNES EREBESNES
Rem

Public Const ARUse = True (AR —h%{# Fi=TRue| {3 Fi=False

Public Const ARCD =30 (AR —hDFE#EFEITRINEE) EI—F

Public Const AR_UQP = False'(AR>—h~h CHExHiffi =& 5% AL 5=True| &~ E FA=False
Public Const AR_Due = 2'(XILHABR: KRB AR=1 | KT 2 AKR=2| etc

Public Const ARCol = 11 '(BS/PLALERRR F1(E 1151 B =KFI%E{E A

Public Const KeyAR1 = 4 (i & HE 1+ —DFIES  {FREI—FIES

Public Const KeyAR2 = 12 ‘(i & 52%—NDFHIFES LRANES

Public Const KeyAR3 = 11 (& #3¥ —DFIES : AL AJIES
Rem

Public Const MWUse = False (MW > — k% {& Fi=TRue| T { f=False

Public Const MWCD = 80 (MW — D RLES I EI—K

Public Const MW_UQP = False '(Mw>— T E x Bi{fi = £%8% AL 5=True| = Fi=False
Public Const MW_Due = 1 (AFHARR : Ki#B AR =1 | Ki#B L AX=2 etc

Public Const MW Col = 11 '(BS/PLALFRIRR 5 (E1151 B =K% A

Rem Public Const KeyMW1 = 8 (i & 515 —DFIES:

Rem Public Const KeyMW2 = 17 (I B E2F —DFIHS

Rem Public Const KeyMW3 = 18 (i & 53X —DFIES

Rem
Public LnDT(1 to 30) As String '(BK,JV,AP,AR,MW > —+ D i K F1§=30
Public aIND(0 to 4) (CFTOBEEHICEHHIREMEI—RYRE,




